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Name: Mark:

1 {(a) Abdullah and Jasmine bought a car for 59000,
Abdullah pmd 45% of the $9000 and Jasmine pad the

(i How much did Jasp

i the ratio 8:3: 1.

(e} (i)

Answerfc)i) S | S [3]

(i) Calculate the overall percentage loss of the truck s value after three years.

Answerfel(ii)
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(c) Write down the range of values of x for which the gradient of the graph of y = * + | is negative.  [1]

[4]

f+ oy 3 =1, gi\ring}lum' AN SO

(e) | Solic

(ﬂ Find ﬂ'le Cﬁﬂurdi_n_af_es of the nud=poi [2]




HE iR PR




HE iR [ PR

L

SCALE




HAUE LR E bR

North

alculate angle HAT,
w that this rounds 1o 230

erfa)

(b) The beainy

Find the bearing o
(i) T from A,
« M)
(i) A from T.
R L) R—— i EH
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{¢) Caleulate how far Tis east of 4.

Answerfe)

PR AR R R AR SRS E R RN

(d) Angle THR = 30° and angle HRT = 70°

{e) [« map the distanee represt
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[3]
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(b) Calculate the curved surface area of the cone.
[The curved surface area of a cone of radius r and sloping edge / is given by A4 =/ ] [3]

. The cost of covering all the sol
Citleulate the cost of this gold pla

e curved surface arca of a he i% elven | [5]
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7 (a) There are 30 swdents in a class.
20 study Physics, 15 study Chemistry and 3 study neither Physics nor Chemistry.

¢

P C

(iy Copy and complete the Venn diagram to show this information, [2]

(i) Find the number of students who study bothPhysics and Chemistry. [1]

(h)

(i) at least one of the two beads 15

The beads are not replaced.

A second bead is chosen at random from each bag.

Find the probability that
(iii)  all four beads are white, [3]
(iv) the beads are not all the same colour. 13]

11
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{a) A sector of a circle, radius 6em, has an angle of 207,

NOT TO
—l SCALE

Calculate Gem

(i} the area of the sector, 2]

A whole cheese is a cylinder, radius fer
The diagram shows a slice of this che

Calculate

(i} the volume of the slice of cheese. [2)
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(i) the total surface area of the slice of cheese, [4]

e remains constant,
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9. Given that a parabola passing through A(-1,0), B(4,0) and C(0,-4). A point P is moving along the arcBC.

(a) Find the equation of the quadratic function, [2]

Bl




